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10.

The candidate will write Roll Number only on the Cover Page and on the Answer Sheet of
the Question-booklet at the places provided for the purpose and nowhere else, otherwise
the candidate will be disqualified in the Entrance Test.

Al go-giea & sngeor-ye wr ol IeR-um @ ffdse e v & e STl

[ VL.

ferg®, srers w2t oty gt mder adien & dfera Y @@ ST

Do not write your Roll No. OR Name inside the Question-booklet.

- YITHT B TR ST AT Ay gHE T )

There shall be no erasing or overwriting in the answers given on the Answer Sheet,
in which case such answers shall be deemed as incorrect.
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Use of log tables or calculators is not permitted.
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SET/17/19/XI1(B)/(2)

SCHOOL ENTRANCE TEST, 2017

CLASS : XI
hElT : XI
BIOLOGY
Time : Two Hours | [ Maximum Marks ;: 100
o - @ 2] [ g : 100
IMPORTANT

l Read careﬁ.tlly the Instruction for Answer!ng given on the )

Answer Sheet and answer the questions as directed :

FTTTT -9 Re 7T IOV ST FW B @ sfgeR @ d
9IeT 7Y FIERIgEr 3T e

1. Which of the following plant is a parasite ?

(1) Cuscuta (2) Taxus

(3) Ginko ~ (4) Nonme of the above
=1 # A m-ar Sgr gt @ 7

(1) omHEd (2) 2eEq

(3) f=t (4) S H 9 P w5

2. Vessels are absent in :
(1} Gymnosperms
(2) Pteridophytes
(3) Angiospmers
(4) Both Gymnosperms & Pteridophytes

(3)
P Tk,



SET/17/19/X1(B)/(2)
aifefind srgufera &t ¥
(1) smTgadls §
2) MNPy
(3) Sgash 9
(4) SEasicl o REwged A |

3. Amount of blood received by brain every minute is :

HRASh S0 R A o ge ® A @ o
(I} 2500 ml  (2) 1000ml  (3) 750 ml (4) 450 ml

4. Myoglobin is found in :

(1) Lungs (2) Blood

(3} Muscles | (4) None of the above

AR T o |

(1) »ws o (2 w7 H |

(3) wigaferat A (4) I # & e F gl
5. pH of saliva is :

A 1 pH 8 8

(1) 9.5 (2) 8.0 (3) 7.0 4) 6.5

6. Pepsin digests :

(1) Protein I

o) Casbohydrates () Allof the above
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it garar ®
(1) SEr &y (2) =& @
(3) wTEERET I (@) SudE @it
. Who has given the term Vitamin ?
(1) Louis Pasteur (2) Funk
(3) Priestley (4) John Lister
. = s fReem Ry o ? .
(1) gha areer (2) &%
(3) Brew . 4 a9 few
- The process of photosynthesis is maximum in :
(1} Green light (2) Yellow light
(3) Red light (4) Orange light
ST HEwoT 1 fhar waifer anfr ¥ _
(1) 8 serr | (2) R meprer F
(3) v wEpTer B | (4) e e ®

« In human males the paired accessory glands are ;

(1) Seminal vesicles (2) Testes
(3) Prostrate . (4) Vas deference
T AFal q g e SRt gid §
(1) gwE (2) g9
(3) W< (4) =6 arfest
(5) . wme.

RLo
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10.

11,

12.

13.

Botanical name of red gram is :

(1) Cajanus cajan
(3) Phaseolus radiatus

A G H JEfae qH 2
(1) PATT BT
(3) BfFsiired WRgeT

Banana is :

(1) Berry (2) Pome
&l B

(1) sT@wa  (2) 9

Flower is a :
(1) Modified root
{3) Modified leaf
g B T
(1) wI=Rda g«
(3) wurafyd giv

(2)

)

(2)
(4)

Pisum sativum

Gossypium hirsutum

gIsgH @erEaH
Mo egecH

Pepo (4) Lomentum

oy (4) AH=H

Modified shoot

None of the above

BT S8
Iudad ® @ig TEt

Which of the following causes food poisoning ?

(1) Xanthomonas Citrt

(3) Escherichia Coli

(2)
(4)

Frankia

Clostridium botulinum

freg & B @ ST (AR I BT 2

(1) ST fact
3) gﬂfﬁﬁﬁwﬁc‘fﬂ?

2)

piFar

(4) WW@WW



14.

15.

16.

17.

SET/17/19/XI1(B)/(2)

Which bacterium is found in human intestine ?

(1} Vibrio Cholerae (2) Bacillus anthracis
(3) Eschén'chia Coli (4) Corynebacterium
BIF-|T ST A @ offe F g rer & 7
(1) 7R #R (2) fRrer =R

" (3)  gwERfeEr wens - (4) R

Process of heating of milk at 62.8°C for 30 minutes followed by is
cooling is known as ;

(1) Nitrification " (2) Pasteurization
(3) Sterilization (4) Freezing

9 N 62.8°C T 30 e o T HA B A% Ve B B

(1) TR (2) WQ%*'@[W
(3) fr=fres (4) ST
Pectin is ;
(1) Fat (2) Carbohydrate
(3) Protein - - (4) Inorganic compoung
Ufre B - |
(1) aar 12)  wleEge
@) SEw A ST
Starch and Sugar are .
(1) Protein (2) Caiohyq,
(3) Fat ~ - &) Neory,

i a Ve
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qUZ UF T & ]

(1) A (2) ETEERE

(3) @& (4) SuAaT H F B T
18. Mitochondria are not found in :
(1) Blue-green algae (2) Green algae
(3) Red algae (4) None of the above
qIgCiepiiegar Fgf g A g
(1) et =fa Sew # (2) eRa & o
(3) = Qe ° (4) SodeRr H fedl J A&
19. How many hydrogen bonds are found between Guanine and
Cytocine ?
(1) Two (2) Three (3) Four (4) Six

T UF EaEE B e § fhad eEglee aw e § 7
(1) = (2) = (3) @R (4) &

20. Which of the following is known as 'Suicide bag ?

(” Centrosome (2) Mesosome
(3] Ribosome (4) Lysosome
e B & T SO A el €
e (2) HrErErT
(1) e e
(3) W’qﬁﬂzﬁ
. g deposited 1T .
2. Lignin 19 ﬂséufﬁ (2) Phloem tissues
m .
(1) Xyle '. (4} None of the above
3 cort?

(8)
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23.
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farfrae ST e ®

(1) g Wb (2) wNUH FHaw H

(3) awge H S (4) Sudey # @ fRed A et
70s type of ribosomes are found in :

(1) Prokaryotic cell

(2) Eukaryotic cell

(3} Both prokaryotic and eukaryotic cell

(4) None of the above
708 YHR F TEEErE 99 o ¥
(1) mBRaes HifgE &

@) THRAfes B |
@) &, AR T R SR A

(4) Sudea o | G A 98

A man of blood group A marries an AB blogd group-women. Which
type of progemy blood group indicates that the man is not
homozygous ? ‘ ’

T AP P @ WE A ¥ 96 FNE AB W ) ufeay g

fran ¥ @ AW EOTET @ ¥ 9E U wge) .
ST @ HT TE B Ry 7 BT % fo

(1) AB (2) A @3 B @ o
24, The pace-maker of the hegrt jg ; .

(1) Bundleof His @ A./. Node

@) S A Node 4 Ptlkinje fibery

| (9)



SET/17/19/XI(B)/(2)

45,

26.

21.

98, During the

(1) svest o fea (2) o dlo g |
(3} UHo Uo HIZ (4) xR awq

Kuffer cells are found in ........... .

(1) Kidney (2) Liver (3) Blood (4) Heart
FFET DIREHT ...ovvenen 7 Oy ST

(1) o (2) agd (3) T (4) &
The reaction CH,4 + Cl, A1 T 3Cl+ HCl is an example of :
(1} addition (2) substitution

(3} hydrolysis _ (4) oxidation

CHy = Cly — 2R cpacl + HCL 95 sifidfear semeer

(1) GgSH/dwa (2) wferemgsT

(3) S=TTES (4) AT TeT

The electronic configuration of an element is 2, 8, 3. In modern’
periodic table the clement is placed in :

(1) Istgroup ({2) 3rd group I(3] 13th group (4) 15th group

Um; dvd A QR 9 2, 8, 3 @, I8 Imyfve Syad areeft &
fpg gt o &8 ?
(1) geen (2) dm ot (3) 13aAT @ (4) 15a7 gt

proceés of cooking, if the outside surface of the utensil

ts hackened, it indicates that :
ge q pat

(1) the fuel is burnng completely
(2) the food is cooled completely
h fuel 18 not Urning completely

the
(3] fo0d 1 notpoked completely
(4) the
(10)



29.

30.

31.

SET/17/19/XI(B)/(2)
@l T FHY 3R qo9 Pl SR d@ AT 8 ST & dl g8 &snar
& : :
(1) Fo9 guieq & 51 @7 8
(2) @ gl a%@ | 9% V@
(3) Feow yofey & 7ét ot e B
(4) @ gl dXe @ el U ver R

The functional group in butanol is :

(1) aldehyde group (2) alcohol group
(3) ketone group (4) carboxylic acid group
AT 7 Iufeers Brarcrs @y @ |

(1) UlcserEs (2) TR

(3) HrE= (4) e
Which of the following is not an allotrope of carbon ?
(1) Buckminster fullerene (2) Graphite

(3) Diamond (4) Granite

foret & & @ wrew @1 oIuT w9 FETR P

(1) =By gl (2) IprEe

(3) & | (4) IEE

ron is mixed with other metals to make an alloy called stainless
steel. The other metals are :

(1) Cuand Ni (2) Cuand2zn (3) Cuand Cr (4) Crand Ni
aﬁ%a%ma@aﬁﬁfﬁaméﬁ@amm%fam
gl €

(1) CudNi (21 Cu 9 2Zn (3) Cu g Cr @) cr g

{11 P.T.0
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32. Which of the following molecules possesses a double bond ?

33.

34.

35.

36.

(1) Hy (2) O -
3} Ciy (4) None of these
1 & @ fag orop § o g & Brar B 7

(1) Hj (2) Og

(3) Cly (4) 9 | +g TE

The number of protons in an atom of element X is 16. The number
of electrons present in its ion X%~ will be :

X T 7 derdl & dear 16 &1 g89% X2 o@= § gaag @
g By
(1) 18 2) 16 (3) 14 4 8

Which one out of the following metals will be displaced from the
solution of its salt by the other three metals ?

et F g8 @M1 9y B o % Sus RAwed § oy dNr argedt
&y franfoe e & 7

(1) Al (2) Ag (3) Fe 4) Cu
A basic oxide is formed by the element :

Mg AfeRIEeE &9 aTer 9 B |
(1) Na (2) P 3) S -4 d

Which of the following salts gives an alkaline solution on
dissolving in water ?

(1) NaCl (2) NapSO,

(3) NayCOs - (4) None of these

g & @ B9-61 T@9T 7 H geq 9 &g fawge g @ 7
(1} NaCl (2) NaySO,

(3) NagCO3 (4) T |/ P T
(12)



37.

38.

39.

40.

a1.

SET/17/19/XKB}/(2)

A solution turns phenolphthalein indicator pink. The most likely
pH of this solution is :

ae g S 5 eaesafem & &1 @ et # AT 8, B dHE
pH & :

(1) 1 (2) 5 3) 7 4) 10

A white precipitate is obtained by adding dilute sulphuric acid
into a solution of :

Wﬁ%ﬂ%ﬁ@?ﬁﬂgﬁ%ﬂ%mﬁﬁﬁ@%ﬁw
ERTr 7

(1) NaCl (2) BaCl,  (3) CuCly 4) FeCly

Which of the following is an exothermic reaction ?

(1) electrolysis of water (2) photosynthesis

(3) decomposition of CaCO3;  (4) Process of respiration
Fr & | a7 SwEd efvfedr 8 7

(1) Ferga sage (2) STERIST-GITTOT

(3] CaCOs = faEed (4) a9+ fepa

Which Qf th_e following has highest number of molecules ?

(1) 1gH,0 (2) 1gNHz (3 lgHy (4 1go,
frre & & fored ool & den watfyes el ?

(1) 130 Hy0- (2) 15 NH @) 1 wH, @ 13m0,

A solution of hydrogen peroxide contains 6.8 H
O
The molarity of ﬂ:us solution ig g 205 per 100 ml,

aﬁmw%womm«ﬁag -
@%%I%Wﬁmw%?' mmqwﬁ

1) 377 (2) 02 3) 0.3}
(13)

4) 2

P.x @
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42,

43.

44,

Which of the following is not a stable mixture ?

(1) Milk (2) Sugar in water

(3) Copper Sulphate in water ~ (4) Chalk powder in water
M1 d @ B up e foeer @ R0

(1) zu (2) St 7 =@

(3) o1 ¥ Hfqy Hede (4) s@ A =i (@fearn)

Concentration of the solution prepared by dissolving 40 g of NaCl
in 100 ml of water at room temperature is :

(1) 28.57% (2) 3.5%
(3) 0.28% (4) None of these

40 9 NaCl @& 100 ml o1 § 91 Y a9 T8 [a@m9 @ amsan
et

(1) 28.57% (2] 3.5%
(3) 0.28% (4) 39 @ Hg T

Which of the following will show Tyndall effect ?

(1) aqueous sugar solution

(2) aqueous sodium chloride solution
(3) aqueous starch solution

(4) aqueous ethanol

ey & @ B REwe T Sl & 7

{ 14:)



45.

46.

47.

48.

SET/17/19/XI(B})/(2)

Which of the following is a non-metallic liquid at room
temperature ?

(1) Bromine (2) éhlorine (3} Selenium (4) Mercury’
ST H 8§ A STeIg T WA A9 W g ofaRer 3 drar ¥ 7
(1) sieis (2) =G (3) dafrm (4) 9

In dry hot weather, water kept in an earthen pot becomes cool due
to the phenomenon of :

(1) osmosis (2) diffusion

(3) sublimation J (4) evaporation ;
qh TH Hgy F, fﬁaa%aéaﬁra—rwéﬁww;
(1) ey (2) REC

(3) SeEtqr (4) =T™9F

In an organic compound percentage of C asid H is 54.5% and
9.1% and remaining is oxygen, then empirical formula. of this
compound is : .

aie el s A § @ 54.5%, BRSO 9.1% e 9y
SRS &, a8 A F we g ¥

() CHO  (2) CH4 0 (3 CH02 (4) CoHo0

A liquid beils at 323 K. [tg boﬂmg p01nt in °F and °C are
respectively : ,

(1) 122 and.50 (2) 50 and - 122

(3) 50 and122 T None of these

o = @ AEE 323 K BT wge I F IR e

(1) 122750 @ S0m.pp

(3) 507 122 @) =3P E,,:,;%

(15)
P.T 0
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49.

50.

Latent heat of fusion 1s :

(1) shown by a change in temperature

(2) not shown by a change in temperature
(3) heat released when ice melts

(4) heat associated with diffusion of gases

S h] S CHEAT \

(1) amre aftads @ ufeafee 8 e __ \
(2) T aftads @ oftefad @ e B :
(3) . =% fogas oz feta S , L
() At * fameer 7 gt wen o L]

In given table, which of the following statement is correct ?
:' Element \| W l X \ Y \. -z \

| : |
t’\gj_mic Number | 9 J 1 LH_J 17 | 19 ]

(1) Wis a metal
(2) W is more reactive than Y
(3) X is more reactive than Z

(4) Y and Z are in the same period
g7 ) WRO & oy formy & O i=-ET @3;‘_@_? 7

7 = 1
[ B | W | X Y ‘ Z -"
\ ‘ (—ﬁ_?::{ L ! | o __._. o _._,,..__\




51.

52.

53.

34.

55.

SET/17/19/XI1(B)/(2)

Indian Super League is associated with :

(1) Hockey (2) Football (3) Badminton (4) Kabaddi
(1) =m=r'| 2) GEIw /@ (3) Yshyves & (4) wogH @
When First Five Year Plan was launched ? |

YEll duasta QS e wng g et ¢

(1) 1947 (2) 1951 (3) 1948 (4) 1952

Where is the headquarters of International Vaccine Institute (v ?

(1) South Korea (2) Germany

(3) Brazil (4) France
AU A wenT o &g FHel qX g & ?
(1) =Ry sifar (2) ST

3) arha @) wE

The National Girl Child Day is celebrated on which day ?
(1) January 22 (2) January 23.
(3) January 24 (4) January 25
W # e A Ry R S o ¥ 2
(1) 22 sFad (2) 23 T

(3) 24 SrEd (4 25 S

Which state government has deanched e-health program
Jeevan .Rekha" to prowdeJ a centralized databage of healtheare
information ? -

(1) Chhattisgarh (2) Tamil Nadu
(3) Kerala | (4) Gujarat

(17)
P, T.0.
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e Yo GYehTe N W gaiell @ @igd SEd SETH A
& fom Sfiaw @’ A -2y W g faEr g 7
(1) wirere (2) At

2

(3) & (4) TR
56. Matter written by hand is known as :
(1) Manual (2) Handicraft
{(3) Hieroglyphic (4) Manuscript
57. 'To turn the tables means :

(1) To make space (2) To argue

(3] To reverse the conditions (4) To-makg a face
58. Which of the following sentence is correct ?
“ (1) If you pour oil on water, it may float.
(2) If you pour oil on water, it will float.
(3) 1f you pour oil on water, it shall float.
(4) If you pour oil én water, it floats.

59. Choose the correct phrasal verb to fill in the blank : 'Nobody will

with his behaviour'.

(1) comeup (2) get in . (3) putup (4) putin

60. The idiom 'once in @ blue moon' means :

(1) boast &_ (2) certainly

(4) very expensive

(3) yery rarely

(18)



61.

62.

63.

64.

65,

66.

67.

68.

SET/17/19/X1(B)/(2)

‘The cyclone devoured anything standing in its way.' Which figure
of speech is employed here ?

(1) Metaphor (2) Metonymy |
(3) Personification (4) Simile
What is the plural of the word SYLLABUS ?

(1) Syllabusies | (2) Syllables

(3) Syllabi (4) Syllaby
What is the meaning of the word : PULLULATE ?
(1) To breed and spread rapidly (2) To spray

(3) To pull and level (4) To put in pyre and burn

Which is the correct indirect speech of the sentence - He said,
"That will do." ?

(1) He said he would do. - (2) He is said to do.
(3) He said that would do. (4) He said that that will do.

Fill in the blank in question with appropriate verb :
Eitherheorl................ mistaken,
(1) are (2) am (3) is @) would

(1) Swgiaes  (2) swEd (@) = @) wfas
‘Pridl H B Bl G H TR B
(1) a5 (2) <Ay (3) TPE  (4) Dy

P @ w o vE R

(1) wafr @ w=g (3) Surr @) g
(19)
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69. fhe wifessR @ wHeT arordr 78 o ?
(1) STHELIHT o™ (2) weRdr aHf
(3) Wi (4) fara wae e
70. ‘Wreg | wer ¥ F - B B0
(1) @T&®H® (2) TComedn (3) @EHHS (4) Fareretep

71, S A ar giefe Sdd | 8 B e oo e ©
(1) ordfes  (2) TS (3) GXRE  (4) g

72. g d gurg ¥ -

(1) erRgsd (2) FHHUR™
3} & (4) HAHAAF

73. o1e + IuH @ E@iYgs BT
(1) oredare= (2) STATISH
(3) eTdaeTISA (4) TS

74. W9 & AYTH FBE €

(1) @ (2) et
(3) avi (4) T
75. ‘i B T A g vt ¥
(1) st 8 (2) T 2
3 @R 2T (4) STRE! B

(20)



76.

17.

SET/17/19/XI(B)/(2)

While using a convex lens as a magnifying glass, object should be
palced :

(1} Between fdcua and optical centre
(2) At2F

(3) Between F and 2F

(4) At focus

@Wﬁﬂﬁ@mﬁiﬁﬁwgﬁmw;m@#m
gifew

(1) ®Ipd Ty % & qeg
(@) 2F @
(3) Fud 2F 3 g

Eﬁmtﬂ

When an object is at infinity. The image formed by a convex
mirror will be :

(1} At focus, real and erect
(2) At focus, virtual and erect

(3) At focus, real and magnified

(4) At between pole and focys

S UH a%] 9 ¥ E, %mmmwﬁ%ﬁm
(1) g €, RISUER LS U .
(2) @ U, Araredt vd

(3) W U, amaﬁaaqzrnaﬁa
(4) gaqaq?rwa‘oaﬁa

P10
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78. Electric fuse is placed in ............ with electrical appliance for

79.

protecting it .
(1) Parallel (2) Series

(3) Neither parallel nor series (4) None of these

%@Wﬂaqﬁwﬁwﬁ%ﬁqwr@m KES
IGHIT &

(1) @EFETR | () aoft d
LB)HﬁW‘{ﬁHa‘r%ﬂﬁﬁ | gH | WIg el

In a circuit, a metallic wire 18 connected in series with a battery
and an ammeter, If another wire (same metal, same length and

cross_sectional area) is connected in parallel to the metallic wire,

the current in ammeter will be :

(1) Halved  (2) Doubled (3] Fourtimes (4} Same
@Wﬁwmﬁaﬁﬁaﬂ@ﬁaﬁawqaaaﬁﬂiwq
oty F opET B af IE g, Tf) T ug orgEeel uREsE
gAYl AR, Hife® @ FHER e & e faer ot B, aied H
qry @ S

(1) el (2) U @) ¥” T (@) F

80. A person suffering from Myopia can See .

(1) nearby objects clearly but cannot see distant objects

distinctly
(2) distant objects clearly but cannot see nearby objects

distinctly
(3) nearby as well as distant objects clearly

can see objects at infinitely large distance clearly

(22)
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frare gftc A @ dife = o Twar 2 -

(1) ORI & qegell & TWeqar gt g3 B axgelt H A d
W € g wEwmm

(2) T B gl H T wiyg 9" @ qegel B am a0
€l 3@ Fewar

(3) U qUT g # awgelt B wrw-ars

(4) oa gl WX Rea awgett B we-ars 3w g @

Most of the refraction for the light rays entering the eye occurs at :
(1) The outer surface of Cornea (2) Pupil

(3) Optic nerve | (4) Retina

'aﬁiaﬁnawmﬁaraﬁmTWaﬂaﬁaﬁqaméaém%r

(1) 3Har & @y w9 1w (2) gae ov

(3) u=IeEs 99 wx , (4) e a

The device used for producing electric current, is called :
(I} Generator ' (2) Galvanometer

(3] Ammeter (4) Motor

(1) sRe (2) AT

(3) artex (4) *eX

If a current carrying straight conductas s beld in right hand such
that thumb points in the direction of current. The fingers will
wrap around the conduétor in the direction of the fie]lg lines of the
magnetic field. This is known as : '

(1) Right hand palm rule (2) Fleming'sTefthapy File

(3) Right hand thumb rule (4) Newton's rule

(23
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84.

85.

aﬁ@mﬂaﬁzﬁéaﬁmﬁaﬁﬁgmﬁsﬂmmwm%
B SFer g & fren # dfva aeer ¥ SfeEl, wTee ® ateR @
feemr & ereeliy A & @ Ywre A fRem 7 @Rl €1 A ST S
i

g

(1) @iz et & 89l a1 o (2) gaftin & ard grg @ Frag
(3) «fed vy & oFE ar Fram  (4) =geA @ fEm

Magnetic lines of forces emerge at .

(1) North pole and end at South pole

(2) South pole and end at North pole

(3) In mid of North and South poles

(4) None of these

TEHY g W0 A &

(1) SQ ga ux aur sl gg w e exf &
0) &l g7 oF e 9 ga O EEe A ¥
(3) sa@ e sfEen gE @ g |

@)z & B T |
Commercial nuclear reactions are based on :
(1) Nuclear fusion

(2) Nuclear fission

(3) Combining two or more lighter nuclei to get energy for reactor

(4) Non€ of-these
(24)
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88,

J SET/17/19/XY(B}/(2)

aifortouer ifaaa Ruaey safie 2

(1) , i derge v

(2) . faess qo

(3) amaﬁmmmﬁﬁw&amﬁw%ﬁm
FHell W R g

(4) 79 & 3 9

An aeroplane accelerates down a runway at 4 m/sec? for 30 sec,

until it finally lifts off the ground. The distance travelled before
take off is :

(1) 120m (2) 1800m  (3) 7.5m (4) 900 m

@ﬁqﬁwﬁnm~qawsom%%rq4zﬁ/a2ﬁa?@

aﬁﬁém%,mw%%aﬁq@wwaﬁEWI@ﬁ
F A T T gh R

(1} 120+ {2) 1800 = (3) 7.5 ) 900 #H

The S. 1. Unit of magnetic flux is :

(1} Weber/m? (2) Weber (3) Gauss {4) Oersted
FEIBE TATE BT o o HHE B

() /4@ W @) M @ s
The colour of an object depends on :

(1) Wavelength (2) Frequency

(3) Velocity (4) Acceleration

%ﬁra@ﬂwﬁﬂhm%:
(1) adRed @@ (2) IRFRAT yy
(3) ¥ W @) = g

(25)
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89. Which of the following graph represents a uniformity

accelerated motion ?

y
1 S
(1) A
t—> ¥
y
v
(3) TY
ot -

b

22
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y

4 4
—x

ﬁmﬁﬁaﬁﬁ-wmnﬁﬁwwaﬁﬂﬁfaﬂ%?

y

t

—>

t—=

(3)

t—>

b

(2) s

t
t-> %

y

A"

o
t—> "

(26)
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In a hydroelectric power plant more electrical power can be
generated if water falls from a greater height, because :

(1) TIts temperature increases
(2) The thermal energy of water increases

(3) Larger amount of potential energy is converted into kinetic
energy

{(4) More water molecules dissociate into ions

U AT qgd wfd @9 #, o Ygm wle ooy 9 oon @wdt ®
afE arl atfees Sod F Prear 2, 3910

(1) =6 qg ggar 2

(2) 9w A et qe B

(@B) e A # Reafowr s, wfas s F Rafiy a9
[4) T B S ST et # qed ¥

Which of the following is a non-renewable source of energy ?
(1] Wood {2) Sun (3) Fossil fuels (4) Wind
BT H R d-ar oot o ortdige e ¥ 7

= @)W @) @i @) e

If the tension in a stretched wire is increased four times, how will
the velocity of wave in the string vary ?

(1) The velocity will be halved
(2) The velocity will be doubled
(3) The velocity W}}L remain unchanged

(4) The velocity becomes four times

(27)
P.T.0.



SET/17/19/XI(B)/(2)

93.

94,

iy uH o9 gY A H qug =R A Y R oer 8, O a) # adr
&1 a7 H8 gRafdd erm ?

(1) 37 3er & s
@) 1 @ g @ oA
(3) @ ergiafda w@m

(4) 'E‘maﬁgm?ﬁaﬁm

A submarine sends a sonar pulse, which returns from an under
water cliff in 1.0 sec. If the speed of sound in salt water is
1530 m/sec, the distance of cliff is :

(1) 1530 m (2) 765m (3) 3060 m 4 1m

q 1.0 qFve § awE ded B o TR o= 7 el @ 3T
1530 H/& &1, @ gdAgE & weew H g 8o

(1) 1530+t  (2) 765+ (3) 3060 #I (4) 17

An object of mass 2 kg is sliding with a constant velocity of
4 m/sec on a frictionless horizontal table. The force required to
keep the object moving with the same velocity 18

(1) 32N (2) ON (3) 2N 4) 8N

QWmmﬂﬁa%T@ﬁmﬁ@saéwaﬁﬁaqT4ﬁi/a%ﬁaﬁaq
ﬁﬁ@%\aﬁﬁﬁﬁaﬁﬁaa[qqlqT@ﬁ%ﬁ-‘mma‘qa;aa

E- 3
o REE @0 @ 2 ) e

(28)
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If a block of a material released under water come upto the
surface of water :

(1) The upward buoyant force acting on block is greater than the
gravitational force

(2) The upward buoyant force acting on block is less than the
gravitational force '

(3} The volume of water displaced by block is less than the

voluz_:ne of the block

(4) The density of material of block is more than the density of
water

uﬁ@uﬂﬁﬁgwﬁr%w@@aﬁwm%www
ST R, v

(1) ﬁgw_waﬁaﬂiavﬁwmmaa,maﬁﬁ
st

(2) ﬁgﬁ?wﬁmwﬁwww,maﬁ%
BT B :

13) e 21T ge’@ 713 vl g arrgae, R @ emmaw @ w2
(4) TN & v & g o B woe @ orfyg B

Force acting on a stationary charge Qin a magnetic field B is :

m v @ 2 @ 2 @) Zero
e 85 B U R amder @ w e e aw D
1 Bov @) =32 @ = & g

Q

Magnification produced by a plane mirror is :

wrae gdr & R s o

(1) m>1 2) m<1 (3) mi? (4) me1

©(29)
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98.

99.

100.

Which of the following represents voltage ?

(1) ~orhoong (2) Work done x charge
Current x time

Work done x time

(3) (4) Work done x charge x time
Current
Prefaifag § @ @-a1 aees @ e 8 7
iy 28 () F « oA
IR X §HY
B @) P x o <

The work done in moving a charge of 5 coulomb from a point at a

potential of 210 volts to another point at 240 volts is :
(1} 1200 Joulc (2) 150 Joule
(3) 1050 Joule (4) 6 Joule

S e # UH AN H 210 diecdr & oF favg @ 240 A B
g W & 99 H faar T @i ®

(1) 1200 5= (2) 150 SpeT
(3) 1050 e (4) 6 I
A lamp has a resistance of 96 ohms. How much current flows

through the lamp when it is connected to 120 Volts ?

(1) 1.25 Ampere (2) 0.8 Ampere

(3) 2.50 Ampere 4) 1.6 Ampere
qa%ﬂaargﬁrﬁﬁ%eﬁq%aauélzoaﬁ'@gsra,ﬁ%m
3 P €Tl Seed BN 7

(1) 1 25 ufigaR (2) 0.8 ufaeR

5 50 TFFPI (4) 1.6 affgax

(30)









